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%@_@ NG 40 | 38 78 | 15.0 | 63.0
VEMERD | 2 K B 40 | 39 79 | 12.0| 67.0
(3 D MEE Fnik 41 | 43 84| 15.0| 69.0
4 (D Mk 39 | 43 82 | 13.0| 69.0
G D] FF B 30 | 44 83| 14.0 | 69.0
<6 D) AR IR 43 | 41 84| 14.0] 70.0
@ e —k 38 | 39 771 7.0] 70.0
@ D EL HB 41 | 43 84 | 14.0| 70.0
(9 {ip| g E+ 38 | 42 80| 10.0| 70.0
SO PN 46 | 42 88| 17.0| 71.0
11 fif [ XFH 44 47 91| 20.0| 71.0
12 AL | By % 41 48 89| 18.0| 71.0
13 7 | 5K EE 41 46 87| 15.0| 72.0
14 L |[IEEE W 52 45 97 | 24.0| 173.0
15 fif |3RH BE 42 44 86| 13.0| 73.0
16 {7 | W&l 2 46 48 94 | 21.0| 73.0
17 AL | KRAR R 41 48 891 16.0| 73.0
18 fL|EE ——= 38 46 84| 11.0| 73.0
19 {7 | Ak F| 5 43 45 88| 14.0 | 74.0
20 i |AHEk B = 46 48 94 | 20.0| 74.0
21 Az |MPF B3 51 47 98 | 23.0| 75.0
22 L |Friu JEIR 44 46 90 | 15.0| 75.0
23 fir | TRE #H— 51 44 95| 19.0 | 76.0
24 i | KA 45 41 86| 10.0| 76.0
25 fir | Bl 8B 47 43 90 | 14.0 | 76.0
26 i |Bx0 FHE 49 51 100 | 24.0| 76.0
27 fir |[HH F£EZ 46 46 92 | 15.0| 77.0
28 i [JEK BE 50 42 92 | 14.0| 78.0
29 {if | A RIKER 50 45 95 | 17.0| 78.0
30 {7 | s Br=EB 45 43 88| 10.0| 78.0
31 fiL [BlA WP 51 52 103 | 25.0| 78.0
32 iz | Rkl Bl 47 51 98 | 20.0| 78.0
33 ff | = [FiE 51 43 94 | 15.0| 79.0
34 AL | EMH HER 44 51 95 | 16.0| 79.0
35 fir | AT FnfE 46 58 104 | 24.0| 80.0
36 fif | AT FE 49 58 107 | 20.0| 87.0
il 49 46 951 0.0 95.0
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11 fi |[fEH EIR 43 42 85| 13.0| 72.0
12 fif | nggE 1= 46 47 93| 21.0| 72.0
13 fif | 5 H E& 44 50 94 | 22.0| 172.0
14 {7 | THE Eh 45 46 91| 18.0| 73.0
15 L | 1Rk 1EJE 46 42 88| 14.0| 74.0
16 i | KRB =R 51 43 94 | 19.0| 75.0
17 fiz | %8 5B 46 41 87 | 12.0| 75.0
18 fir |HH 5 46 51 97 | 22.0| 75.0
19 fiz |FIL Bl— 50 51 101 | 25.0| 76.0
20 L | =P AR TBX 54 55 109 | 33.0| 76.0
21 L | ¥ T 51 47 98 | 21.0 | 77.0
22 i |WEH EKE 49 46 95| 15.0 | 80.0
23 if |ShEE RAT 47 48 95| 15.0 | 80.0
24 if HEE =% 48 51 99 | 19.0 | 80.0
25 L | oA E— 55 54 109 | 26.0 | 83.0
26 fiL |[tHN —¥F 49 50 99 | 16.0 | 83.0
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